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Costmg Methods & Techniques
Paper - II
_(Repeater/R_egular)

‘Tlme 3Hours 4 : e ; . : : -Max’imquarks : 80

Instmctwnsta Cana“zdates- s

R 1) Attempt qucstmns accordmg to the mternai choxce in each section.
S B3adeond omena Sos08 valimRden w0y, SR sugosd.
.2y Working notes must be given wherever necessary.
o s OB cis BTN, LTAKD. . | '
" 3)  Use Non—Programmable Calculators only. :
- S 33356?’90 <ac3 TS0y sumcdrenzen ema:bef»cs

SECTION-A _
vy RN - © ; e
_Answer any Ten of the following: > o (10X2=i0)

ez a‘:’:ﬁﬁ eZOR0.
1. a) What is retension money ?
al w@hﬁro@dﬁ o 20wTeRd 9
b) What do you mean’ by unit method of cost:mg ?
P R SO donded 7 -
c) 'What is prccess “costing. ?
Mkl 563 6325 Dearam TS 008D 2
coad) ,Deﬁne margmal costmg . . , "
U o S o, demo. . R ROr R '
) ,.'What is by product 2 Gwe two examples
' emafﬁ QOEBER ¢ DT NRTIBAYSY TR0,
). _Name any 4 undertaking where operating costmg applies..
R Sy, deorad HRES0D SHEDTNE en 4 coaEHrivay EXons.
g State 4 reasons for dzsagreement in cost & f'manmal proﬁts
B R mm %a‘aﬁaﬁo @»ﬁmf Uaz;m*@ momsﬁi eﬂﬁacbdciﬁ 4 a:xd'"ari@ab
: 'é@a@ . : - :

[PTO.
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h) What is BEP. 7
AR, WOrd @oddem ?
i) Write 2 features’ of Job costing.
0@ HErad 20E oésﬂ‘r\'@m EDRD.
j) - What is running cost 7 '
30 &g, 2owdesd 7 :
k) What do you mean by cost per passenger kms ?
¥ o,g,é B, 036388 FLREDEETT o0 Qomde 7

1) What is appropriation of profit-?

ey m?.;s 20w 23 R0TTE ?

. SECTION-B.
g ogen - W h : ‘
Answer any three.of the following: E ) ' (3X5=i55) R

— @@ﬁaﬁ@r’ﬁ'é@ 350 m::s@ eVZOAD.

Distinguish between process . & y:)b costing. -

emaacizs BeBT Y, T 1A rb@ﬁ i) dOedﬂ%b 3920, X

Vmay “Transport | Company operates 5 buses. between Hubli & Belagaw The
distance between Hubli & Belagavi is about 100 kms. The capaclty of each bus :
is 50 passengers. But on an average the: bus runs 20% empty. All the buses. run

on all days.of the month November. Each bus . makes two ruund mps each day. _ff‘

Calculate total passenger Km.

| oF0dh 0K BoRICTD), TR, W ?39‘?@53 ai:d 5 wRondRy b axZT. ooou@ :

. o erpang eoss 100 & e‘:m T WA, 50 woi:asé‘ﬁ‘d '?doas £ BROOTET. e:sc:id :
| WRD RURO 23, ,CoRedE0 ARG, ] 20% 35903RA LIEIBT. SR, WRINEL SB0w0°

.%ori% QER), @ﬁﬁ@.ﬁ@ (Mavlal ué WA B30I SO ﬁozvb 3, 00569 mmgd meo,
@,0dRedEdD> &, &3, 08009RT TRTHR, éd@emeuc‘ﬁéé 30T ao@o:')oc‘:) , ,
From the followmg prepare cost—sheet & show cost per umt & proﬁt for the

. period. Bogy P
Raw materials consumed . Rs.1,70 000
Direct wages : e © Rs.1,50,000
Machine Hours worked 4 2500 s
Machine Hour rate : » RSB2

Office overhead. 15% of - works cost

Selling ‘overhead Rs:10 per: umt

Unit produced 14000

.Units sold 13000 @ Rs.50
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sont SdcD g S g, w%od:m% Sein0R. BeEROR TS Bodm

ROTER 2, COFTRY, ﬁozﬁaéo@owa 5

oscinenags s, mANS S, - 98.1,70,000
300 — . 8R.1i50,000
303, 1WAT k), CIODEFTD 2500 rloginsh.
3 00D BT - TR.32

ezﬁ@m%ﬁ foedzs, PR BYE 15% o),

| ZRoonn” 33, wé o3RI m 10

emsamcs Wi cdoReFngd 14000

e b, GRS 13000 @ TR:50

From. the followmg information, Calculate the amount of profit to be transferred to
profit & loss account in case of contract accounting.’

National profit .~ Rs.3,00,000
Value of work certiﬁed i Rs.14,00,000
" Contract price - .. - Rs.20,00,000

- Contractee pays 80% of work cemfied. | g
B 3ONS Bekacd ©pIND Sedoq wa, wmwd sawam em;i 83, st

[rRFORRWEEOTD SEHetD. _
50T oo . §».3,00,000

sgeodion, SeRd SPY, . 09.14,00,000
maﬁcmaﬁes - . ©e:20,00,000

SO Jeswo §0% T, WRE, é—amoa& FORE, B2 —awa ab‘ammﬁ
From the following partlculars calculate

(a) P/V Ratic

(b) Fixed cost

I year sales Rs.3,90,000 profit Rs. 18, 000

II year sales Rs.4,50,000 profit Rs.30,000

23 36NS SRHC0T OBBEOWD.
(2) o223, RROT. BT
(b) Nd 33?3
afsacméod: S SRoes 80.3.90,000 woed Be:18,000 -

 SOE3H == Swosed ©8r.4,50,000 w9 8r.30,000

{P.T.O.
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SECTION-C
Qg - ¥ ol
Answer any two of the following: . T PR o {2><15*‘3{?)

_ Pern addé eVZORD. -
7. A product passcs through two. processes namely process A and B & then to fimshed

- stock. The details of each process ‘are as follows: -
A . . B

Input (10000 units at-Rs.50 per umt) . 5,00,000 -
Sundry materials (Rs.) - _ , 440,000 . 60,000
Wages (Rs.) S T LT iy 20'000 ki 32, 000 .
~ Expenses (Rs.) | : B e B SGOG ©5,500.
Actual output (units) - L L T 19,300 8,500
Normal loss (% of input) CRE R TR B
Scrap value per unit (Rs.) IR Tath T LA - o

Prepare process Accounts & Abnormal loss Accounts.
200 rocé) S A R B 8wy RoxOes BOIRYOTS :a’oimsaﬁ ;303:5 X WF

_ mmema’ci wao&aocb NONdf'a 50&5 e‘;)afd faoéci R iy
A B ©

orored aeacsa(mooo o:ba;aeasma 9n:50 o‘mms‘ﬁ) " 500,000 - - -
933 HO® (Be) . © 40,0000 60,000
o (Be) | " o .. 20000 32,000
a3 SO (GB.) o : e A e SO S S0
BIT 0TI (om:aasorf«;Q) Bp e S U DRSO T RB00
'*aw:saas m (Qetded doeedy et T T ST e e s
Rob B33 (ass el i) st rg s 3 PR ) el Bl bra S

RoRTeD .méﬁeéab VL) e:amai:aeﬁ G a;:::%ﬁs'ab sodnam ;
8. VRL Transport Company operates 2 buses between Hubl: & S1rs1 The detaﬂs for the i

month of December 2021 is as follows : - .

Distance between 2 cities 100 kms -

Capacity of each bus 40 seats = . -

Round trip covered daily 2 by each bus

Occupancy for onward trip 80%

Cost of each bus Rs.7,50,000

Depremanon @20% p.a. each

Salary of two drivers Rs.5,000 p.m.: each ;

Salary of two conductors Rs.4,000. p.m each

For return trip seat unoccupied 30%

Repairs 80% of the depreciation of each bus

Tyres & Tubes Rs.50 per 100 kms.




mERMEENON - ©

Diesel etc Rs.30 per 20 kms
“Commission 25% of the total cost.
Road tax Rs.7,500 p.m. each bus
Insurance Rs.2,500 p.m. each bus

Prepare opelanng cost-sheet & find cost per. passenger kms.
JEARSIEG éwa%gpewr gomRodn BoUPO0E 8T =31 2 unorfs?'da éo@mad

: ENO?..)UE 2021 g s NS EﬁJ?J-Eo&OdJKb Zotﬁf‘wti
- TE JNONY [T, 2033 100 8.20. ﬁ%b
: ANY BT F 40 LRIND J
T80T ROWORT WTY T@ WK 2 DF
BREMTNS W« 80% -
. B3 wAT T8 8».7,50,000-
R332 WO B3 war 20% pa,
QT 1PUTT '53633' S0GRw oM ge.5, 000 T8 donsh.

- lawcb &eﬁc‘-{fé aieés éomwﬁﬁ Tr.4,000 =@ sonsh. .

Bcbﬂ wcbaarf 29 Aetng *’033 30%
v ﬁa WIS ARFOeD §0% dm '

s éﬁD‘ "Drira mwﬁ@ NREBTH w\% 100 $.20.1% g%.50°

‘@"’@‘ 23¢3 k) 20 $.o0.8 30 OR.A.
-ﬁ‘amss‘ w3, BT 25% Ty, '
SnFe- e’cﬁ ""a &.wﬁ dm’]:)OO

BH T &)n:ﬁ zé 3OF{~§J GrR.2500
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sten Noﬁo.b 53, TeIODIY BoIROWT T3 wojnsévd e dzs BORDHBOWD.
- Prepare a statement ot Reconmhatlon from the foIlowmg data

Net profit as per costing

Works overhead in costing

Works overhead in financial account

Income tax paid in- financial account

Value of closing stock in costing

Value of closing stock in financial account
Provision for doubtful debts

Dividend on Investment

Preliminary expenses written off -

Store adjustment credited in financial account
Share Transfer fees credited = &
Depreciation as per cost account - '

.~ Depreciation as per financial account

Loss on sale of assets shown in financial account

- - Sl b T oo ow

3,00,000
51,000
42,000
90,000
28,000
31,000

6,000
113,000
© 11,500
6,000

©+10,000

30,000

17,000

12,000

[P.T.0.




I L@ sy

| B3 NS Bntdc0on TEeE @8I IokR0O. oy &
33, B85 B5g oy 13,00,000

a.
b, dzs eiﬁcj oy asmmm _ | 51,000
c. - Beosonss cam@ ﬁae@’zﬁgf%fab smmcsa .y - 42,000
©od Brewors esad@ esmod 3on ] - . 90,000
e Ry Sun wm 08T WY - 28,000
£ momas S8 T5es ejoaax; S Y v e 4w - BLGHG <
g RoBoIngs. mon Y . 30,000
h o & wa‘@ 0TI Bt Boeds mmoﬁ m@da@aa - 6,000 .-
i -a;pasrma e, sRSREYIEINS. ¢ " 330007 5
. Seosoas ca-szs@ womd Beomedd oy W esn‘d": " sk
k  Seeveas ciﬁd@ Jecd dew‘s’s 2o szm vy 6,000
1 g, e, e B B g 4 S 10,000
M- Beowons e Ao L. -  17,000-
" n ey RIREE BORCIIRY, BeoTINT sscsa 2ReORTAS 12,000

'10. Vishal Buﬂders Ltd have taken a contract in 2021. The value of the: conﬁact is -
Rs.12,50,000. They began'the work on 1st January, 202]. The followmg a.re the
detaﬂs for the year ending 31st December 2021. :

Materlals purchased i Gooa b BT T Shae. -
Wages paid- T e B 1,40,000.
Direct expenditure paid - o - 25,000
Sub contract cost ‘ - 12,500
Plant purchased . 4,060,000
~ Materials returned to stores | 50,000 -
Materials lost by fire & sold (costing Rs25 000) . +.20,000
- Plant sold on 1/7/2021 (costing Rs.50,000) - v 73 5E.000
Materials at site on 32208, e TN E 15000 -
Work certified ,' - 10,00,000
Cost of work uncertified 1,00,000
Rate of deprecxatlon 5 ; : 10% p.a.
Retention money e : g 10%
~Wages accrued ‘ dn g i 10 000

Prepare contract account i : e 3

QRALCOR 13 DRFEs- ~o~ 2021 3 . 12 50 000 g ﬁammaodoab 6&%&90@5 eﬁssm
= maﬁam@mab 20213 m‘ida a‘irat:ftbaioi) Qsidccb D, dow,o::mti éa %@Jﬁs aimaoéo:ib
31 &Zowd 20215 ROWODRTS.
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20y _ : oR.
SRond Do T o T . 5,00,000
. ged DR e T 140,000
3 dzs N Sl R EAEC Y ye,  S5OBE
- o uaﬁocﬁ 5325 A SR ML 12,500.
ohodin eEseny Do . 4 4,00,000
| oTomed Wl Addrs - 50,000
. dosonor moved e anosts (aﬂeB gp.25 000) 20,000
odog, Beoowd 1/7/2021 (86 9»50,000) - . 55,000
RBFISOT 90335 OB 31/12/2021 .- 75,000
dgpoRon. SoRd 4, f 10,00,000
'éq:ram@a’d SoRg BgL Ve T TS aiee
| Ragoch ©o B3 ge L0 0 18%pa
DewneodES . 0 0 10%
Houtd 633 o STIRSET A s T S
"o TR améoiam mmma |
SECTION-D
: azpari - ar
. Case study (Compulsory Question) - (x15=15)
s moﬁ ""53 -‘ " T ‘
11. - The following details relate to ‘the’ manufacture of two products M & N
. Particulars g Sl -~ .Product M Product Nl
Direct materials (2kgs) : g ' ' 14 ' o i
" . Direct materials (3kgs) n TR £ R
3 Dlrectwages per. Ml oy e e 14, 1= o4 | _ .4
_Sellmg price per unit. . - RETIL LT el 30_ h S

Vanable overheads 100% Gf direct wages

leed cost Rs.1 40 000
 [PT.O..
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@) Calculate P/V ratio of each product
b) . State which product-is preferable if material is in short supply.
¢) State which of the following sales mix will you recommend & why ?

Particulars M(units) N(units)
* Sales Mix - I ' ' o 14000 6,000
Sales Mix - II : | 10,000 10,000
_ Sales Mix - III . ' : ' ~ ' 8,000 12,000
M 33 N mrammc;f Nouo@,\,w Bk NI, L e
SAEate) - Product M~ Product N
363 oo (28.28) : | g
Sed Rogorish (38.22.) ‘ - 21
30 300 T odoREA i i : 4 A
SPoeud zid B Qd:oé’oés‘ﬁ ' 30 40

WEOIRE B a?zsun'%b ST Bpdodh e?eﬁzsa 100 Nd aiwn‘%i) .l 40 000
a)  ®30de0omhd DA tmzj Sroowd URbied ﬁozsoaoﬁaonaa
b) ﬁzsa TN TG, % gashotnmen odRes & B OREe ‘?

B = ué.#ﬁa cdyess @WRTekd Q0T w3y deT :b :‘mcabs,e@ ?

ST _ __ M(G0RE*99) N(cdoRisnivd)
Rnoots ‘mzs,sa 5ol .. 14,000. 6,000
Reoots B - I . N L 10,000 10,000

BRoo Qges - 111 | 8000 - 12,000
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VI Semester B.Com.3."Deg're§ Examination, September/October - 2022 |
COMPUTER APPLICATION IN BUSINESS - V :
' - (Regular)

Time : 3 Hours . L i - Maximum Marks : 80
Instructions to Candidates: 1. All sections are compulsory subject to Internal cho:ces
' i i Sectzon Dis compulsary

: - SECTION-A
Answer any Ten questions. Each question carties Two marks. | (10%2=20)
~ Define Journal. ' '
- Whatis smgle entry system‘?
Whatis sundry debitor? -
" What isthe function key to actwate Tally conﬁgure‘? L
. Define group in Taliy il :
~ What do youmean by sales order?
. Mention any two inventory vouchers used in Tally
Define Ratlo analysis. i :
: ~M§;nt10;; any four reports in Tally.
10.  Exparid DVIand PDF.
11 What is Image pfocéssing?
12. Give any two-examples of video players, .
‘s SECTION—B . i L
= Answer any Three questmns Each carries Five marks h o (3%5=15)

- 13, Mention the mierits of accounting.

14. Explainany five pre - defined accounting voﬁchér lypés in Tally.

15, Write the steps to create and delete the ledger :

16. Explain different typesof Réports in Tally _
17.  Whatis printer? Explam impact and non-- impact printers.

PTO.




18.
19.
20.
21.

22.

© ® N e WA W

T T ) g 36625/F250

~ SECTION-C
Answer any Two Qﬁcstions; Each carries Fiftéeﬁ marks.. . (2x15=30)
Write the steps to create a co'mpa:ny'hl'Tally with various fields. |
Distinguish betwecn‘manuai and cerr;puterised AIS. '
Discuss in detail the different input devices.
Write short notes on. -
a. Elementsof CAIS.

b.  Finalaccounts.

- ¢.- Animations.

s SECTION-D _
Compulsory question (Case Study) - e i (1x15=15)
Joumalise the fc;llowing transactions irrtabular form to identify groups, ledgers and youché:s. '
1. Mr. Milind has started business with Rs. 8,00,000/-. '

Cash deposited into bank Rs. 1,00,000/-.

" Purchased land worth Rs. 2,50,000/-.
Sold goods te smita Rs.30,000/-.
Loan given to sachi Ks. 25,000/-,
Received cash from smita Rs. 20,0600/-.
Paid electricity bill Rs. 3,500/-. '
Brought machinery worth Rs, 52,000/~

- 'Withdraw cash for personal use Rs. 5,500/-.
Paid factory rent Rs. 15,000,

B
=




A 36625/F210

Reo. No.

-

© ¥f Semester B.Com. 3 Degree Examination, Sapi'ember!{)ctcber -
Modern Auditing and Practices |
Paper -
(Regular/Repeaters)

Tifme : 3 Hours 3 : ' Maximum Marks : 80
" Instructions to Candidates: ' '

) 1) Attempt All the Sections accerding to internal choice.
| w0ty wolyt ey, Doy, dgmernen 3020,
2)  Section-D is compulsory.
or ~ ® B0 o T oRTeNG.

~ SECTION-A
_ NN~ & _ :
Answer any Ten of the following. 7 i (10%2=20)

2NTrY, Yoo BRY JFNOR G000
1. 2 Whatis Auditing ? i

SER0dRGS QT3 9
b) What is continuous Audit ?

2T0=T ééﬁﬁ@&a@cﬁﬁ 208 ?
¢) What is Fraud ?

Zo3d wowded -
d) What is internal check ?

20308 T,2005 H0B8eR 7
e) State two qualities’ of good Auditor.

U3 SYHORRETET 0w rorNYRy 0o,
"f)  What is voucher ? A

| s 0T 2 LT
' PTO.
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@) What are Audit files ? |
| SEmogeegSaD eonva ER0%0.
'h)  What is audit programme 2
SERDIRGSOD TEHIFT B, F0TORD ?
1)  What is test checking ?
| Tyodeend SmRn ol 7
j) . What is clean feiaort '
| TOHT, [IO D0TBed 2
K) What is investigation ? |
283 0Ty ?
" 1), Expand : (i) ICAI (i) FCA
- &3080 : (i) ICAI (i) FCA

SECTION-B -
| . asr SN ' |
Answer any Three of the following: - (3x5=15)

dewen Jhecd ZIRer evsond.

2. Explain the advantages of Auditing, r
EROZRFod CPRYR), 2eT0RD.

3. Expldin tﬁe rights of a Auditor.
TEROBRETT TRIFSY, 20RD.

4. How do you vouch sales ?

| Snoous 65 0Bt HROD. "

5. ‘Explain the features of audit report.
JEmoBeegRod wonhob OFLIVRY, D00,

6.  Distinguish between internal audit and external audit.
0308 SROBReG So%) TR, SYRORRGHINY B3y AUy DEORD.
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SECTION-C
et - @ |
Answer any Two -of the following: ‘ (2x15=30)

enon 0@y *’ﬁﬁ@f YUBOA0.

Define auditing. Explain the ob_;ectlves of Audit.

Jemodnerisond maﬁ BRE0. dﬁwb&aeﬁa’cﬁo POTIETTITE) aasma

Who is audltor ? Explain Ihe professxonal and general qualities of an good audltor-
TEHOERGT DoTteEd 7 JEHoReEs Seck T RO, ﬁm*ﬁ%ﬂa DTO0.
How- do you verify the following:

éﬁﬁa’@mﬁ@{ el D08,

a) - Debtors
RRONa0T)

b) Furnitures
2BRETITLINTD

¢) Investments

B3N _ el : :

What is uncjualiﬂed report ? Draft the specimen of uﬁqu_aliﬁed audit report. |
eBeDE0hE oD SOETED 7 SFEEHCLS HOHD SRR TRD.

| SECTION-D

LT ogrt - @
Case study. (Compulsorf) . _ ' (1x15=15)
B30 SHODT (SEODTNG).
The following transaotlons were wrongly recorded in the ABC Co, Ltd. Belagaw
@) Cash purchase Rs.52,000 has not been recorded in cash book.
b) ‘Credit sales of Rs.30,000 wrongly recorded of Rs.3,000 to customer account.
c) * Rs.12,000 stationery expenses paid is recorded in salary bc;ok. )
d) Purchase of machinery worth Rs.1 O(}- 000 is recorded as. purchase of goods

¢) . Sale of goods on credit Rs.5, 600 was xmtten as Rs.6,500 to the deblt of

: customer account.

[E-T.0.
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Reg No

GOODS & SERVICES TAX - IT-
Paper - II -
{Repeater/Regular)

Time : 3Hours e i | . Maximum Marks: 80
Inszmcrzans fo Candtdates. i

1)  Aunswer all the questions accordmg to the internal chmce
. 50307 esodniRordesmen 98, T I er eugoR0. - |
2}  Question 'No 11 case studjr is compulsary.
B3 113, ﬁdsa e, o3 %mcﬁ:&s&ﬁd‘
3) Slmple Calculators are allowed

KoY riesded>os, evBEIREAR,
SECTION-A
g - ©
Answer any Ten of the following, L ' - ' C(10x2=20)

Besoss BYE eI0R0.

-
b
o

8

~ What is open market value ?

=03 Snchdel, BPY, aomsed 7

Pefine Revenue Neutral Rate.

- smab 33T, O DOTTERD ?
- What is non-taxable suppiy 7

301 & TPYT Q0TTER> 7
Who is supplier ?
R FTV 2038 0D 7.

Define Recipient.

| AeBoRRS TSy, 5B,

- [B.T.O.
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Qtate the difference -between debit note & credit note ?

Debe £3358 T W BT FITITH), 30RO,
g) What is supplementory tax invoice ?
| o Sort Rowmi, Sodded 20
h) What is bill of supply ?
. pgEoD 236 e, 0TBED 7
_ What is refund under GST 2
_ zﬂ .88, o> wody TS aocﬁc'n’e-b ? |
i) State the documents requn'ed for refund on account of export of goods.
. Nosond o) 503030, Ei)d) "'"ddg'ﬁ ST EADIe CsaéDt‘Sr{%*m e@aﬁ
What is electronic credit ledger ? '
DTS wER 2% BT SOTBER ?
R 'Mentxon the modes of payment in GST T,
g sbwy Ham 0O, B Aomab SRR xiras, 3930
: SECTIONB - P
az;:’aﬁ - |
- Answer any 'Th_ree.of the following e (3%5=15) |

Bezns dﬁmc@ HUZORD.

Explam the factors determining Revenue Neutral rates.

TR 6% T8, HYRS DeddE SoInvRy D00, -

. What are the feamres'of pajzmeﬁt- process in GST payable ?

2.7 13,0 TS 030 OFTIERL, 2920,

Explain the difference between tax invoice & bill of supply.

20R b el % WY BS D ANV 940
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e agEd BITER Gv30R0.

/

State any five features & situations _in whjch refund would arise.

mcb-wa ﬁcsodao:: s D5 Roudgr iR ? -

M. Prasanna is an air travel agent, From the following mfonnatxon compute the value
of supply of services and GST @ 18% -

Particulars | " Basic fare
‘2) . Domestic Travel .+ - T 450,000
'b) Intemational Travel -~ - 15,00,000

3¢ B TWTH HBRTIRD aﬁoa&oaﬂcsad Z 3N DE‘ZE’EJ:JCﬂ RPe0 SHITE HoeS
e300 RQRTI- Neﬁmﬁ APy, I 23e 185 BORY, 23,95 £3.000), ﬁozsaaoéoaaaj

oo . . . @weodd
a) Tedod J[ERs . - ) *6,50,000
b) 03TROD TR . 15,00,000
 SECTION-C
Sepn - g _
Answer any Two of the fc]lowi.ng. ‘ (2x15=30)

Explain the types of returns ?

DN BIIORY DT FTIVRY, DOV,

Explain the GST tax structure ? -

o.3.43. Cedod ToERy, o0,

. Write a short note

1) Refund in case of prowsmnal assessment.

o Export'of goods or services under claim of rebate.

[P.T.O.
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"10.

1)

2)

b)

i

b
; C-)

| 3) ‘Time limit for ﬁlmg refund claim.

- B %’@ﬂ’dsﬁm’@ﬁ 53352'5 wgod. - o : ' g

?D'De‘ﬁﬁ aj?ltn s:mwsﬂ o3,

6 ouSRv> eBm Aesrd LACLY T, T,

3) mm 8 Tdoded amcsm msma

The followmg goods & services procured by Prakash Ltd. in thc month of April :
- 2622, :

A,

,Sales prcmo'tion services Rs.50,000

Goads given as gift Rs.64,000
Packing matenals used in a factory R520 000
Goods destroyed due to - natural caiamatws RS3O 000

Goods used for captive COI’lSlepthn Rs 25,000

- Paper for photo copying machine used in office Rs.6,000
'_Outdoc-r catermg serv1ccs prov1ded to the employees Rs 45,000

 Goods purchased without. 1nvo1ce Rs.40,000

Goods used ‘in the mnstrucnon of office building Rs.60,000 from the above
mformatzon :

‘ ,1_) Compute total ‘amount of mput tax cred1t awa}iabie

2)_ comment on adm1331ble & m—adm:smble ITC items.

2022 2a,&F 3on¥d), T3 S s a’csmafaozs 20> Tore Aeanieo 31 FINS0E

23S, _

) SRoow SEUs A Ue.50,000
oIRGB REBERE: FIRNED T.64,000
moamrabd, LT HosoRs ST 820,000
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- 9) Subsidy received .from third party Rs.50,000
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d) FEnFs SReenvon wven SR 6r.30,000

) wod3 weER eumadeenat FUBRH TR.25,000- 7

) emes ‘u*eﬁéaoﬁé Zockdn 1:5503 waoa;ﬁﬁ X SR §2.6,000

g) - wom, SeonPor wutRennon é’aezﬁmd R Jesnsd ©e.45,000

) o 3, anp ;D@eanacﬁ Rogorted 82.40,000

) meRrochn uE SRR, uem@aw SR 8R.60,000

o608 APtV

1) Brrn? SoR mb BROHS LK, SRS TorbEOwD.

2) AFROIEF o) g‘mmsmq;i @Rerae 3wl [RAY wif, asse IREO.
| SECTION-D |

o - &

‘Case Stqdy (Compﬁlsory) _‘ g o } i l'(fix15=1'5)

Beoe e abs (FEeb D).
X Ltd of V_]apur sold a product to "Y' Ltd Mysore for Rs.7,67,000 (mcludmo 18%

'GST) The above selling price is not included the foliowmg

1) Durable & retm*nable packing cost Rs. 6() 000
2) Norrna,l & secondary packing cost Rs.70,000 '
3} Cost of special packing Rs.40,000 -"

4) Frieght charges Rs.15, 000 |

5) Insurance charges Rs 45 000

- 6) Advemsement charges Rs.60, 000

7). _ Design.& enomeermg charges Rs.80,000

. 8) Publicity expenses Rs.25 000 o

[P.T.0.
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"_“_"-'10) Free samples Rs.35, 000 —
1'_-11) Commmsmn paid to agent hy recexpﬂon mstructlon of suppher ‘Rs.20,000
o 12) Trade dxscou:nt (Norma} Pracnce) Rs.15,000
Compute '
a)  Transaction’ value 2
.- b) Amount of GST payable e
- Comment on IGST '

X otk dwmaps W "Y' Savd SiAnD> a0t 18% .0%°.68, OO eieosed
. 6,67,000/-" BRooss 138 1,09 asxoa;sa SR0as SROmT. SR UY 8
BNy LORROBDOIOY, '

' . 98 0o mga aoomcsmmsemm Rok® maﬁfm 33, 4060000
N mama st SpgE rioaa:» smas S5, 870, 000 '
3 msm rlot> ﬁézoe:aﬁcﬁa ﬁza’ da. 40, 000
4y oot S de.15000 -
-5) 2w mﬁﬁ dfaés 000 v e i
j "~'5)-_:"macoasa dzszﬁﬁo ziraéo 000
D jo‘:)a‘a ﬁ mso @oﬁﬁoﬂ:@oﬁ ’dszi%b .80, 000
8)  Bucs & cffa25 000
, 9) Sopoe as 3000003 (ez&amzs) Booms 8.50,000
10) -_emzaa* mwaﬁe;a dxa 35 000 | |
1 '-'eejad%c:sadd Ao as:edﬁ HeBoRsID csm@ﬁ 483, B0E IR.20, 000.

12) S0 Aned (mostns, ©uOH) 0.15,000°
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VI Semester B.Com.3 Degree Exammatlon, September/October 72022,

INCOME TAX
| . Paper-1II
(Regular/Repeater/Compulsory)

" Time: 3Hours : L g, , .. Maximum Marks : 80 ,- |
Insmrctwns fo C'andm'ates : : e

1) Attempt a!i Sections- according to mternal chmces. £ 1 8
| ©0303 oiROR €.YTe), GUIORD.
2)  Give wvorkxng notes wherever necessary.
- SBZATY, VTS wIowo.
3) Simple calculator are allowed.
RIS TENUe0 svmcinenTIEIE,

SECITONA
: ; Qygr - e _ P .
" Answer any Ten of the following. . J oz AR ©(10x2=20)
Uesed B IIneR ev3ond. ‘L | ' : ¥ g
1. a) State the types of Capltal gains ?
WoBmY Cogn TTIONTR) TBewd 7 . :
b) Give a formula for calculataon of indexed cost of achISItlon of assets '
- BA D0eDOD Kpew), 08 33, &8 ToBIN HoRVEDD BRRD.
¢) What is the raté of tax deducted at source, in case of lottery income ?
7 jni%te] BH0NTE, TAOTE. FRIRRYRT BTed 301 &3 odmeyTd 2
d)  What is mterhead set-off 7 :
. BOBOF T, Bromasdd 20Tt 9
" e)- State the rules of set-off of short term capital losses.
T ewaﬁ@ WOBTVE ToANTRY Beomedzd aoﬁaabri@m Bewd. ;
f)  Write any two donations 100% of which amount is allowed as deductions u/s. SOG ‘
soo 80G @@o:b@ 3e. 100 o), ﬁzs‘éé LY oi:a@csacﬁdra Silote:b) a"eréﬁn‘@ﬁa'i)
Cw RBE0. ,
g) What is the amount of deduction for sectlon SODD purpose ?
: $20 80DD Fwd tﬁwocb TITOB Heg oFD), ? ;
© " h) :'Who is an mdmdual ?

o3ROy B3 20 FSatkosd 7 - 1y
- What -are the rates of i income tax_applicable to an 1nd1v1dual whose age 1s 68 hi

years ?

.68, STy, é:aoacfm aseﬁ eS0T éaﬁ dcsrfe;fm udonob

s [PTO.




T gl - | 36622/F220

21

a o S
b Loss from self oceupied property Rs.1,80,000 -

c _

d.

e

b T wRen 1.1,80,000 .

J)  Who is non working partner 7

BOODF Q& LRLOTRTZ ooy 9

%)  What do you mean by tax free commercial securities ? .

30 &g DB, WS B B3 rideomess 9
) What is book profit of a firm ?
F,5F0 xo:o;oda PIT edSomTexy 9

- SECTION-B

g . [ATRRY 4 AN s ,
Answer any Three of the following: (3x5=15) -

Wl @wdd evgono.

Smt Uma furnishes the following details for the previous vear ending 31.03.2020
a  Interest on Central Govt, Securities Rs.18,000 '
b.  Winning from lotteries’ (net) Rs.21,000

C.  Interest on.debentures. of XYZ Ltd Rs.4,500

d.  Dividends from Indjan Company Rs.5,000_

e.  Income from non-agricultural land: Rs.17,000

- Compute her income from other sources. for the assessment year 2020-21. *-

a  %eon Xowos o TZNY 0@ ©e.18,000°

b ooudoer BEw emioh (Re3) ©e.21,000

C.. XYZ somdod amonone sheds WB 0n.4,500

d . gooseon TOTIOWOT Fedes Corgeol dn.5,000

€& ZA0deET HRaooos mEs wmRad ©e.17,000 .
SO0 e 2020-2] % a8 Qg0 sheonvom WOT. SrmodaEay, ITE30.

. Income from salary Rs.15,00,000 -

‘Business loss Rs.5,00,000

Interest from bank Rs.2,50,000
Y 'Winning from Ictteries (gross) Rs.1,00,000
Compute his gross tota income for the assessment year 2021-22
IROD S 2020218 How0RRTOS: Be TG P ng rdscd BT,
a - B3 esemmody 0r.15,00,000 : :
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o SRE0 WD 80.5,00,000

d. msoaﬁ W@ ewoch ©r.2,50,000

e. Coid Swood ﬁcﬁcﬂa (80) ©e.1,00,000

sOFE Sar 2021-22 3 éoaudsa HBT ), e:emod:ﬁzo’a &g SInaD.

4. Explain the provisions of the Income Tax Act 1961 in respect of the fol]owmg
payments. Which are allowable as deduction (any two)
a.  Medical insurance. premium u/s 80D.
b. - Deduction for interest on hlgher education u/s 80E.
c. Maintenance and Medical treatment of a handicapped dependent u/s $0DD.
&3003 301 R 1961 © SRONG, ) FBNIRneR ooty mawsan uz@:e-‘zi‘.ra%m
aodamw@ﬁﬁm WWOAB. (Feznm @5253)
a %o 80D oj:n BT secd Huw ioab
b. 30 80E ob emﬁe Y3en mos 203 wa IRs. :
€. - Two 80DD ob @m@owe DFOBCIIT T, &oﬁa ¥ TR ASFBE.

5.  Shri Sadashiv has furnished the folldwing detajis of his income for the P.Y. 2020-21:
Rs.2,00,000 7% capital investment bonds of Government.

Rs.1,60,000 10% Karnataka Government bonds.

Rs.1,44,000 10% tax free commercial securities (Non listed).”

Rs.80,000 18% tax free debentures of 'A’. Ltd. (listed) '

Rs.10,500 (Net) wmmng from loztenes

oo o

He claims the followmg e\cpenses -
i, Interest on loan taken for purchasing securities Rs.2 000
ii.  Collection charges paid to a banker Rs.200
iii. Expenses for purchase of lottery tickets Rs.800
iv. Commission paid for purchasing securities Rs.1,000 -
Compute the income from other sources for the AY. 202122 =
emRod SHE 2020-21 § XowoRAGoZ Y ecdnd Xrwds Iy iemodhd Qeondsy B
39NT[03 wrnxhE . . :
©r.2,00,000 7% RO50E wommRY BRGT MUTE,H.
8.1,60,000 - 10% 3zorisd Xdsetsd ;b'e;a‘:ajﬁ%b
. 8R.1,44,000 10% 3or 303 sy, Yge Tgried (0WROETHiRYE)
- 0.80,000 18% ‘A’ @mész:a"ai Bori. w))ﬁ 0 mﬁﬁ@o (@a@eﬁdmﬂmocﬁ}
02.10,500 (RRF) w0 HO0dS si:aedﬁe;a
ST B ING MDEAVR TR DeweIedord wey W0EALT.

om0

[PTO.
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L P8z Iy Doeor éﬁd)&'aoaé WOT D WE ce.2 000
i 33,0870 WA Kor, T wzs;ﬁ%b ©2.200

i mésa 8wy DoedN &, 00T "T.800

iv: Z‘JCSEB wé ne é)f)eéod.)e? ”‘?d&od dﬁ?a@ d.ra ¢ 000 -
maﬁdﬁﬁ Sz 2021 -22 ﬁ 930’5 MGn’@omfod [(Sinte] e.smc:baiab dﬁ m@a

P and Q are the workmg partners in a firm Sharmg profits & losses-in the ratio 131,
Their Capltal Stood at Rs. 1,00, 000 each as on 1-4-2019. The P&L Alc. A showed a
net profit of Rs 15,000 for the year ending 31-03-2020, ‘charging the following,

" a . Interest ofi capital : P -Rs.i4 ,000.and Q Rs.14,000
b Salary on partrers : P Rs.50 ,000 and Q Rs.40,000
'Compute the income of the firm for the assessment year 2021-22.

Beobs P&y Q moth &Sm0 ROF039, S0DFRU TPeERTEE) oo wan*m .

1:1 "’Eﬁ?t@d@ aozsémbéaad waoamud TOEVTITR 0T asaa’mfo ﬁmoﬁ

" 142019 ‘Som .1,00,000° 0%, 31.03- 2020 3 ‘EnRioor Ty 39 wogy |

dra 15,000 & gonz 2333&:@05.) ecie R ‘adJSES

2 woEmes s g 1 P 6.14,000 2 Q te.14 000
- b meomus ®edg w@ P .3d%.50,000 aim Q ©2.40,000 ‘
. _a’cagdz% d«.as" 2021-22 doz;b *ammaﬁ on)oja &“z;—ﬁafoodaso ﬁom &&aﬁazﬁeﬁ’a

SECTIONaC
Qgen - g _ _ | hama
Answer any Two of the following: - ' (7 (2><l5‘='30)

‘L %:k’ﬁad '0EY G0goRD.
" Shii- Joshl has iransfered the foIIowmg capital assets durmg the prekus year

202021, |
Partlculars : - Residential ‘Non listed Self generated
House - . Shares Goodwill
: Sale‘proceeds of the assets 15,00,000 12,00,000 " 3,50,000
Date of sale of assets - 01/07/2020  20/09/2020 01/02/2021
- Cost of acquisition = | .- 1,060,000 - 50,000 =
* Year of acquisition . L0 . 19960 2005-06 e
© Fair market value _ L N LR : ¥ S
" (as on 14ho01y ¢ - 1,00 000« 000 i

‘He' purchased a new residential house for Rs.2,00,000 on 15/12/2020. The cost

inflation index for the financial year 2005-06 ; 117, 2020-21 - ; 301, 2001- 02 100

'Compute his taxable capital gain for the a.ssessment year 2021-22
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- H00S War 2020-21 S B¢, wWeed eRd & g SR, Srorctamd,

RIS

Bone RRoIR0T 20 @eo

a
b. RN IRoBs. Baoy
-G DORT FHE
d ~®0ded E:i’zS(s:‘u"‘?"e)
e oiraeﬂ aimaaasz? 6&33
(1/4/20016 "aCS'OCa’) :

fi Qmoﬁ 15/12/2020 dod: tﬂadm O’JDZOO 000 3

TRARWT T cdnes 333@:;3 ' ﬂ;)aorg

=3 Bechries RO
15,00,000  12,00,000 - 3,50,000
01/07/2020  20/09/2020  01/02/2021
1990-91 . 2005-06 -

1,00,000 - 50,000 -

~ 100000 =
B aaéoﬁ:aozjab ﬁmo@c:r*;o’ e

el AT, 0F S8R B F9NT083, 2005-06 ; 117 2020-21 ; 301, 2001 02 ; 100
da:bw KT el 2021-22 ¢ Boo80E a*-*‘r-é wcaﬁm@é mg:idab @mmd WREWB.

years: :
P:mculars '
Income from salary
Loss from SOP -
Income from LOP
Loss from businesg
Loss from speculation business -
Iucome from business

Profit- from speculation ‘business

Dividend from Co-operative somety
Short term capital loss :

Long term' capital Igss i

. Long term _capital gain

& Followmg particulars of income is prov1ded by Mr.Tejas for the th:ree assessment

2013-19 201920 2020-21
20,000 22,000 24 000'
4,000 =
16,000 4,000 . 12 000
16,000 chfre
" 12,000 i i
' -~ 24,000 12,000
Ces 40,000 60,000
4,000 4,000 © 4,000
4,000 awt o 8,000
'+ 24,000 - g

~ 12000 . 24000

From the above mformatlon compute h1s gross total income for the. three assessmcnt

yesars.

- MI‘TEJ&S 30 2 NS R F0ETE SHeron NOEJOQ.’J%Oé =laplevelat a’im&éabaﬁg{

mamd’

ST emed
AT SoFodd @9 g
IRER DFedh emacdy
BN w0

R, FTH0T T

2020-21 -

201819 2019-20
20,000 22,000 24,000 - -
ORISR S e o L,
16,000 - 4,000 12,000 .
16,000 -~ 7L
2000 - .- L

[BTO.
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B,3H0G D ', Y, . 24,080 12,000

ﬁ:é.'a’a ﬁaﬂmdcﬁ oo _ - 40,000 60,000

R RODT €003 = 4,000 4,000 4,000 -
BB WOBSP To 4,000 w0 - 8000
BERFRD woEmY TR - o S SR N S
QT sl WOTY eord - . - 12,0000 24,000

81 000 m&camm Tonesy > BURHOR IRFNY 23, SRR, SERHED.
X, Y & Z are the partners in a firm sharing profits & losses in the .ratio of 2:2:1.

~ The profit and loss account of the firm for the year ending 31-3-2021 is as follows. ’

Particulars : " Rs. Particulars ‘Rs.
To General expenses 1,52,000 By Gross profit 4,00,000
To Interest on capitals at 14% . "o
X : 14,000
Y T 8,400
Z e o 5,600
To Salaryto Y = - 1,20,000
To Commission to Z 60,000
To Rent to Z . 24,000
To Net profit o 16,000 _ RS
4,00,000 : 4 ,00,000

Y and Z are the working partners.
. Compute the total income of the- firm and the taxable income of the three partncrs
in the firm..
X, Y 302 Z 2,080 RoRod9, —awmdam 2:2:1 eaﬂa‘?a’d@ oo 33333 a*:ao:baﬁa
Eczéﬁmbemd 31-3-2031 iS’ a:il}'@orbmmai SReg ooy~ Eﬁaéb 8008 o F9nS0833,
QRT - gp. O oR.
RN, WML 1,52,000 .23, wond 400,000
oy seds ' :
u&g{é‘e.lé% Um&%‘) o =k

X = - 14,000

¥ o, | ' - 8,400
7 SURMNIE -k
YR BeS 1,20,000
ZR BO0a* : . 60,000
Zn woent _ SO 24,000
R oy : ~ 16,000 . "
: 4,00,000 : T .4,00,000

Y mne Z 50bracs TRUIMIBTRNCITT, TOLONDE :do:g;oda‘ 283, ﬁm 22D
RRRT O LETERT SIRodER), TORGECWD. ‘
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‘10. From the following particulars furmshed by Miss Arohi, compute her total i 1ncome
- for the assessment year 2020-21. :

‘a - Salary (gross) : . " - Rs.2,50,000
b. Directors sitting fees : . Rs.10,000
c. Winning from lotteries 8 : Rs.1,00,000
d  Winning from card games . Rs.25,000
e. Loss from house property . . Rs.9,000
f.  Factory building with machinery out: P
Rent received T . o ‘ Rs.90,000
Repairs ‘ I 7 Rs.2,000
Insurance - i E LR : g . Rs.3,000
Interest paid on loan . i S . Rs.5,000
g Sale proceeds of building (purchased : e
in April 2015 for Rs.15,000) . . . Rs.1,00,000 AT
~h. Investments and payments during the year: R b i et
. National savings certificates (viii). issue "~ .Rs.5,000
- Contribution to public provident fund =~ . ‘Rs.10,000 -
Donation to temple (unapproved) , - Rs.8,000
Donation to family planning programme to "
an approved associations Rs.2,500
Life insurance premium pald on her life policy . " Rs.10,000

‘ 503%6% s=:F 2020-21 f BRRO SRk T3 9N eds &555@0&)50 B&@ﬁw, ‘aﬁ"&' :
2 ::vmo:bs:‘:m <3 -‘aﬁa : '
Jeos (L) - ) ¢.2,50,000

a
b 2dersd ae ‘ | il 8r.10,000
e owdebd Admy - - 8».1,00,000
4 Aw ewdd Adwy Ao ,  89.25,000
e ®F ogowos ST L 899,000
f.  wCaRded LTI m&z&?@o&m&-ﬁ aaci} i
TES waR E , & d%.90,000
oy | ' - . ©».2,000
aab o ' 0».3,000
L men aibe@w W& dn.5, 000 ¢
g Da 2015 BY OO B33 &3%33 9r.15,000
ABTIRy, RO BHRB WOT R L 4.1,00,000
h. mﬁgs mme‘;;m BREE Tone Soweotned: | ,
' Tageody guvERcdy WY (viii) wRdE 3n.s, 000
- i1 {P.T:O.
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et o o | aeaw o o d9p10,000

 Brswooohd et @rigwom) 58000
Bion olpend BobrgHy InR3 BdS g dedd  d92,500
OSSR BedS D o - - ©0.10,000 .
SECTION-D'
e - o - B A "
‘ Case study (Compnlsory) e Tk . "(1F$€15§15}, BT S

1.

- . ¢)- ‘Donation to a municipality for promoting family planning Rs. 60 000 ) g = g i
~d) - Donation to charitable trust (approved) Rs.20,000" - = L
~¢e) Books donated to an approved -college Rs.10,000

wﬁﬁta &350535 ﬁw‘aoﬁo mﬁ ‘_
The pross total 1ncomc of Shn pandurang was Rs:10,00,000 for the previous ye,ar, '
ending 31-03-2020 and the following are the donations made by him:

@) Donation to Jawaharlal Memorial Fund Rs.40,000

b) Donation to corporation of minority community Rs.40,000 .

The gross total income of Shri Pandurang mcludes long term ca;ﬁltal gam Rs.20,000.
Case study:

- The assessee seeks your advise on the computation of deductwn allowable under_‘

section 80G 'in the above case and also your suggestions for- donations from ‘which, - "

- maximum amount of deduction can be clalmed from the gross total income (lee. any

five examples of such donations)

' 31-03-2020 g B0F0DRAWE Smch ﬁaii-‘@ X mozﬁ:doﬁd Bmacﬁ)@ 3.10 OG 000

R:levsia g faaﬁd: =3 ﬁﬁfﬁﬁ des‘éﬁcﬁ)&b E’De@md

a) wmEtoee JBd QKR ci_eea&fi gn40, 000
b) e Roawn3s driabd test te.40,000
c) Bow0oW cleemaied INoIYR Deedt ©r.60,000

-d)  TooTTon JIoe 10k NOn)ﬁ et (e‘ﬂwé’ ﬁmo@zﬁ) gs. 20 000

¢) BRI TEG W mesﬁe; Zeedrt d.10,000
*aoréao’oﬁdaﬁd mso t‘:ﬂmoﬁxzﬂ@ uotémﬁﬁcs e ©r.20,000 Neddo:bamﬂ

" @50 wqﬁdccba

700 80G ©R0bd, 5@36 c?ﬁ mﬁ’m Smonf ROBODTY 3@1’?&3335&3 ﬁme@maﬁ“
FoedTHNTOTe- et~ 363 O:S.Dd detﬁﬁ*’éﬁa E’Oe@dd now, ﬁ@éﬁ& uw ﬁmoﬁﬁ@

T, THORDTIN ée@a a:i;\z*b =033 cd:a@m:}csdm mcfo z;i’eséﬁr{qﬁab £:i®~ :
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Reg. No.

VI Semester B.Com. 3 Degree Examination, September/October - 2022
INDIAN FINANCIAL SERVICES ‘
Paper - 1L (Elective)

(Regular/Repeaters)
Time : 3 Hours ' . _  Maximum Marks : 80
Instructions to Candidates: |
: - 1) Attempt all Sections according to internal choice.

(B030F GONON LT, Y, @mﬁﬁdm tmsawf}
") Use of s;mple calculator is allow ed.
AR, F9,edei8R), WIRTIT.
Y Question No.11 (case study) is compulsory.
' B3 "ol 11 (TS HIEES) FEACTONGS.

-

SECTION-A
WyRn - @
Answer any Ten of the following questions. (10%2=20). :
NS Dews B FFrien wugorn. e _ - 7 |
1. a) Define Financial Services,
: Beovora Bedne =, ai [Alelevbis
b) ‘State any two features of financial services. =~
Brovon BeSnY ClRITTER SUE ozsaﬁ@éaigl 392D,
c) What is loan syndication ?- |
0T 30t B Q0TI 7
a) State any two public Sector mcrchanf banks.
| TREFRYT iegd-@dcéo TS W, 080Ty BAOXD.
e) What is Domestic Lease ? .
Sedad Recd F0TSeE 7 i B R e 1

[PT.O.
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f) State any two features of lease.
' rfieedad> 0@ egen, WD,
g) What is factoring ?
F,TOONN DOTWBES0?
h) What is dematerialisation ?
e PSeToD QOTTE 7
i) What is credit rating ?
. 3T Berd Q05desD 2

j) What is online trading’ ?

£5030WOO LTI POTTED ?

k) What is meant by Rematerilisation ?
ST Rdessn 0wl ?

1) Expand; i) NSDL ii) CRISIL

2508 S0 : 1) AFF. LB, D) AUTLD.AF DO,

' SECFION-B ‘
ot - w.

Answer any Three of the following questions _ : (3><5=1S)'
$ons Bewr st BInen qu3dA0. '
Briefly expiain the featurcé; of financial services.
DTN AN o%mﬂ%faﬂa AogTeman eIORD.
Distinguish between financial lease and operating lease.
Brogomd 7ierd 0B ToODF REE HEe Hesd VRING IS aia'a,om’m DTORD.

~ Briefly explain the process of dematerilisation.

w@éeﬁdmd wﬁOi?OD'OﬁJ o%mmﬂ Qﬁ@wﬁ
Explain in bnef the condmons reqmred for reg13trat10n of Merchant Banks.
FBEE 2, 08N SeeoBHn BNgE ©oINTsy HWOA0.

Briefly explain the credit rating process.

| DI Becdond 3,000y HosFHIN DO
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SECTION-C

;)f;an’. - % 5
Answer any Two of the following questions. o (2%15=30)
FWNRINTG, Bewos OB TR wwIorD. | '
What is financial service ? Explam various types of financial services.
Beosoas BN 20udeRd 7 IeTors Neﬁﬁ@ AT waadriésa &)535»)@

- Define Merchant banking. Explain the objectives and functlons of merchant banks.

BIET 239,08 w9, WOCWD. &8 3N ogesntd S0P TOIFNTEY WEOAD.
Define lease. Explam the advantages and d1sadvantages of Ieasmg
Resdod 29,85, WICWY, ©TT SRBROIND P STRIROINIIY, N[ORD.

* What is factoring ? Explain its merits and demerits.

R, goon Q0TI 7 STT rOFOSIDNTI) DEOR0.

SECTION-D
. ogen - B ;
Case Study (Compulsory Question) _ (1><15=15)

a0 DPeRm (FEH I 5} _
Ws Prasad Leasing Co Ltd 1is considering a Icase pmposal to M/s Saoar Co Ltd.

the terms of agreement between them provide the following details.

The cost of the machine Rs.20,00,000

Life of the machine 5 years

Saivage value Rs. 2,00,000

Average cost of Capital 15% p.a.

Tax cancession by the govemment @10% of lease cost.

Lease amount at the end of each year Rs.7,00,000 for 5 years
Tax rate applicable is 50%

Depreciation @ 20% p.a. on reducing- balance method.

The P.V. factor @ 0.15 %

1% year - 0.86957,

2™ year - 0.75614

3 Year - 0.65752 ,
4% Year - 0.57175

5% year - 0.49718

~ You are required to calculate P. V. of cash mﬂows and adv1se the lessor whether,

lease proposal is profitable.

[P.T.O.
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w0, Bw- deory 30. aoi}a)aa‘ Ox8) 0. ANT 0. Do w=or &9?507 SRR
rlesd CRBEY, e TR wold. ©@owT WG DFFE rieed 30008 w0a39,03 mf_*
B3 ﬁ"e;fmceaf.

e PO 9.20,00,000
e 2edmE0 5 S
30D ReDWIAD 080 wwed Py, ©0.2,00,000 _
ROWD wommRYd: i3, Je3z 15 SRFE BUS000E Resdmoodn - Sedwe 103 301
DTS, _ :
B3 TS oS B0 TRFAVESH Derom wodrt 69.7,00,000
RerdtRd gomdot0 Fead 50 Bo3 BOR TP,
| Aerdont Somdoto 29d IRO,TS S8 208 BSE03 *ws@oma énodb‘éd
3683 15 O 3838 ©odes de.l O AR wPow 3 @e.mao 3.
IS¢ S=F - 0.86957,
28 S - 0.75614,
3¢ S - 0.65752,
43e S=F - 0.57175,
53¢ @a@F - 049718

B oy E&Ja&oaa:bai: es3nedy, mcs waam Ndd m“aw adzda soc-bﬁrae;omdd
23R C;?rquJFb n‘.‘er:i TRWTY, Qe @awmoﬁﬁaﬁf cDO&DZSESJ 5%@
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ECONOMICS
Indian Economics
(Repeater/Regular)
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I nstructmns to Candm’ates

B § ‘All sub questions should be answered contmuously at one place .
' Quote facts & figures to support your answer.
DR eﬁs:d—-’w gnen wotde @R wvgd 203010, EWIT ©0% ool
‘ 3] eme»‘dﬁésﬁa fuadoé‘as"n:@
2) ' Answer to all sections should be written in the same answer book.
DY, AR evgdﬁ%fdgl 2.08¢ ev33 BFahY, WCND.

SECTION-A
Qe - ©

Answer any Ten questions of the followmo in 2.3 sentences cach. (IGXZ—-ZO)
AT Lo 5&3 TIROR B oiraodﬁr 2-3 mﬁ nee) emée,uﬁ

Cade . @)

b)’
L s Suod 080 2

¢)

d)

Mentlon two features ef developed economy.
@@d@p BR0O3 @qﬁrwﬁﬁﬁ@oda NTRD oisaﬁga’gt a94.
What- do you mean by primary sector ?

What is National Income ?

tmeigej:: a’dai::aa’i OTTeRD 7

Calculate D.P.L. from the following data.

BUNS ©08-303NF BoHR0w D.PL 30@00B000.
Persondl Income = Rs.50,000 |

Rodgs SoRRT = ¢.50,000

" Direct taxes = Rs.5,000

Bed 3oy = 805,000 B
' ' [P.T.O.
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~ State any two causes for slow growth of Natlonal Income. -
oaaeo:b Sianieve] mociﬁsoda PR e N el mdzamfab éﬁ?ea
What is sex-ratio 7

- OoMeRERE QOWTE ?
- Expand GDP. |
GDP abiy H30%0.

* What is inflation ?

. SS[ATR 0T 7

‘What is REPO rate 2
: d'eéadd aodé’ezﬁ:; - Flo: _
| j) \._‘TJ"Wh& is the Deputy Chamnan of NITI Commmsmn i
L pes eclpenid ebmg gt e 2 ;
- What is Black Money 7 i
| 3, B 20TV 7
) When GST mtro-duced in India ? |
. GST oy GOURDE, AR IRORRIRRD 7
| ' SECTION-B =
* o Qdgen - w e o
Answer_any:Thrge of the following: - ' e T (3%5=15)

2eNs Teww S IR GUOND.

Explain the methods of measuring National Income.

| Togygol SmabERy GYOboN GRSV, HS0KD.

Explain the structure of the Indian Economy.

| ypued epramEioh Susony HBOO.

Explain the causes of Unemployment in India.
$RTIHY, DOERENT PO DTORO.

.. Examine the monetary policy of RBL

. R0seod ORSF W,08% BOWAR HedoRY, HObEORD.




B L

Calculate the CPIN by using below data.
BN @0 oaiﬁ%# RE030008 w880 B3S ,«uazs o3 d?.a,\;a

k Commo;ilty : Sk Base year przce
R © (nRs)
" aRnsh ‘ e IZFT DS
e ah (dR.Tie)
RigH -, i 27 e 20
o _.,:- _ | e
B S . IR
oo , 5 :
- Sugar. - : i s 10 .
Rent AR L R
B | :
Education LG : 2000
L
SEC’I’ION-C

10.

: mﬁ - s‘
Answer any Two of the followmg -
ﬁéﬁﬁ.ﬁe@d _adzz?i erugewa

Discuss the main characteristics of Indian Economy.

| auEs eac;smﬁ'a;;o;b TROD OPLNTRY WD,
" Explain about population explosion'in India.

TRORY, wRH0R, ARE WO ATORD.

‘Explain the functions of R.B.L

07,0, 800§ THODFTITRY, J[ORO: .

Explain the sources of Central Government' Revenue.

3608, RPFUS ST RIROTVRY DSOS,

- 36624/F240

_Current year price

(in Rs.)
ﬁ_) 3 DI 33
(SR.ReE)

60
120

30 -
3000

8000

| (2x15=30)

[P.T.0.
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SECTION-D

- @ | %
Case let : - ' 2 S b “ : (1X15=15)
28-0T 03 | ' ' -
&) 3 ] : : =
India’s population has grown atl the rate of 1.76 percent per annum. India is the
second largest country in terms of population next only to China. The of population
has slowed down the rise in PCI. Population Policy has not curbed the growth, India’

contine to face the problem of population. India has 2.5% of World's land area and
17.4% of the World's population, 5T

Qu és_tions:

- a) Is population an obstacle lo growth ? i
-b) . What is- the position of India in terms of population 7.

¢) What are the causes for rapid growth of Population’ ?
d) What is the.proportion of World's population lives in India ?

RADIex ] BON0AJ 030 oarFsn 3. 1.76 J oo IR e WY gRsase
zRz0al oy, SUGHD SeE Ui, v [oEREE ARERe WPBER . asmRoss cdde
0. IR0asy Dedodn waioss UYSrioha) AeFUS SR, wedds wIR0a,

-

BN wRR05,eHY, 17.4% O, wed Erodd,

T, Reb: ' ‘

8) . W wRoss ot ot 9

b)  wdHooh MIURIR, wedeE T e, 9

¢)  wRRB0N 36, PR FoctoneaY 9

D s wtonn; Banmcy, wONHY, SARERS st 7

SRRFODR  FH0OTTSAER0E FTOOIB. R0 wrie HROhE, 2.5% 8
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L

Simple calculator is allowed.
Tables are supplied on request.
3. Working steps should be clearly mentioned.

b

SECTION-A
1.  Answer any Ten questions. (10x2=20)
a) . Write the general form of L.P.P.
b) Define feasible solution and optimum solution inL.P.P.
¢) Whatis balanced transportation problem.
d) Whatdo you mean by degenerate and Non : degenerate solution in T.P.
¢) Distinguish between pure and mixed strategy in game theory.
f)  Define two person zero sum game.
g) Doesthe game {_21 152] have saddle point?
h) What is the optimum solution in assignment problem?
i)  Whatare the needs for replacement of equipments?
j) - Mention the variables in inventory problem, when shortages is allowed.
k) Mention two uses of inventory.
1)  Define lead time and time horizon in inventory.

{P.T.O.
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SECTION-B

Answer any Three of the following, (3x5=15)

Find initial basic feasible solution to the following transporation problem by North - West
corner rule method :

Destinations Available
DD b
ble & 4 120
Ongn | O, | 4 9 3 200
@ 1 2 6 300
O, |5 7 2 80
- Demand | 280 320 100

For the following two person zero sum game; write down the solution to the game. Is the
fair game?

Player B

A 4 2 0 5
Player A A -1 20 -3
A -3 I -3 90

The demand for an items is 1800 per year. The inventory holding cost is Rs. 12 per year.
The ordering cost is Rs. 400, Shortage are not allowed. Replenishment is instantaneous.
Determine Economic order quantity and annual avera geinventory cost.

Define the terms :

a) Carrying cost.

b)  Set up cost,

c¢)  Shortage cost.

Solve the following assignment problems in order to minimise the total cost :

Man
Ml M2 MS .Md
J1 12 30 21 15
Job I, 18 33 09 31
& 44 25 24 21
I 23 30 28 14




N

LR T FITHTI 3)
SECTION-C
Answer any Two questions.
a)

10.

b)

36661/F610

(2x15=30)

What is meant by equipment, which deteriorate with age? Give one exampie. 3)

. A contractor requires 1000 bags cement every month. Cement costs. Rs. 300 per bag.

Ordering cost is Rs, 280 per order. Shortage cost is 50 per bage per month. If inventory
maintanance cost is 15% of capital invested per year. Suggest the optimal purchase

schedule. 12)
Find the feasible solution to the following transporation problem by
a)  Matrix - Minima method.
b)  Vogel’s Approximation method.
Destinations
D, D, D, D, Available
0, 4 3 0 5 240
0, 1 2 6 1 170
Origin Q, 3 6 2 3 190
Demand 150 190 180 80
Then find total transporation cost and comment. (15)
a)  Explain minimax and maximin principles of 2 game. (5)
b)  Solve the following game by Dominance rule. (10)
B, B, B, B,
A |1 7 3 4
A 15 8 2 5
& (7 2 0 3
a)  Write the mathematical formulation of a transporation problem, 5)
b} Afirmis considering the replacement of a machine, whose cost price is Rs. 12,800.

and the scrap value is 300,

“Years | 2 3 4 5 6 7 8

maintenance cost | 100 | 300 500 | 800 | 1500] 2400 3200 | 4100

(10)
[P.T.O.
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b

1. Answer any Ten questions.

a. Define demography.

P

Maximum Marks : 80

Simple calculator is allowed.
Tables are supplied on request.
Working steps should be clearly mentioned,

SECTION - A
(10x2=20)

b.  Compare crude Birth rate and crude Death rate.

¢.  Mention different measurement of fertility rates.

d. Define stratified random sampling.

€. Define population and sample.

f.  Write two uses of index number,

g.  What do you mean by price index number?

h.  Define statistical quality control.

1. Distinguish between defectives and defects.

j. If ¢ =1.2. Find control limits of C - chart.

k. Define index number,

1. Price index number for current year is 125, what is your conclusion?

[P.T.O.
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SECTION - B
Answer any Three questions. (3x5=15)
Define price index number. Write down its uses,
Calculate cost of living index number to the following data.

Current year. Base year
Item Price Quantity Price
Maize 20 100 13
Corn 21 50 17
Bread 10 50 10
Wheat 12 150 7
Others 24 25 19

In a community, in a specific year, 5200 live births occured. The number of Infant deaths,
during this year was 230 - In the case 42 of the above 5200 births, the mother died due to
child birth, compute Infant Mortality Rate (IMR), and the Maternal Mortality Rate (MMR).

Explain in brief simple Random Samplin g method.
Draw a suitable control chart for the following data and give the conclusion.

Sample No : 1 2 3 4 5 6 d 8

No. of defects: | 10 | 12 14 12 13 13 11 14

SECTION - C
Answer any Two of the following, (2x15=30)
a.  Define time reversal test. Show that Fisher Index number satisfy time reversal test.
()

b.  Compute standardized death rate in two cities from the following data and find out
which city is healthy? Assuming population on city A has been taken as standard.(10)

Age (in years) City A City B
Population Deaths Population | Deaths
Under 5 16000 176 5000 130
5-40 50000 260 27000 162
40-70 120000 - 840 62000 527
70 and above 14000 910 6000 420
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In a class there are 102 students with roll number from 1 to 102. It is desired to take
sample of 10 students, Use the systematic sampling method to determine the samples.

®

b.  From the following .data, calculate gross reproductive rate and net reproductive
rate. If the sex ratio being male to female 15 52:48. 10
Age groups No. of children born (1000 women) Mortality Rate
16-20 200 120
21-25 1500 180
(26-30 2000 150
31-35 800 200
36-40 500 220
41-45 200 230
46-50 100 250
9. a  Define vital statistics, mention the uses of vital statistics. (7)
b. [ Items Food Cloth Rent Fuel Others
% Expenses | 42 25 14 06 13
Indices, 125 95 100 80 90
Calculate cost of living index number to the above data. (8)
10. For the following data calculate, (15)
a) - Lasperey’s price index Number.
b)  Paaschey’s Price index Number,
¢)  Marshal - Edgeworth price index number.
d)  Fisher price index number. :
Items Base Year Current year
Price Expenditure Price Expenditure
A 30 180 50 250
B 10 100 30 180
C 20 100 10 120
D 50 200 60 240
[P.T.O.
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SECTION -D
Case - Study (Compulsory) (1x15=15}
11. Construct ¥ - chart and R- chart for the following data and state your conclusion.
Sample No. Sample values

Sl 4 8 7iN 12 11 14
Z 9 8 3. 14 15
3 9 9 14 15 16
4 10 10 16 10 12
5 16 11 10 11 13
6 12 15 12 12 14
7 13 16 11 13 15
8 5, 0T 1 I8 ue

(Given, forn=5,A,=0.58, D, =0, D, = 2.12)




